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1. Please briefly describe at least four common mistakes made by researchers when they
discuss their findings based on their quantitative research results. (10%)

2. Please read the following abstract. Try to design two different research with different
research methods based on what is described in the abstract. For each research design,
please provide: ’

Dthe title of your research study
2)research purposes and research questions
3)research method (including research framework, participants, instruments, and data
analysis)
4)expected results
(50%)
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I. Please consider the following items and mark each statement with (O) True or ()
False on the answer sheet. (14%) (882%) '
1. Consider the observations 12, 12, 12, 13, 13, 13, 13, 14, 14, 14, 14, 15, 15. The mode is
135.
The term “parameter” is used to refer to a descriptive property of a population.
3. Abiased variance estimate calculated on a sample of 5 cases is 10, so the
corresponding unbiased variance estimate is 12.
In tossing 5 coins, the probability of obtaining fewer than 3 heads is .125.
5. - In'the normal curve, the maximum ordinate of curve occurs at the mean.
On the assumption that the variable is continuous, the computed median for 0, 0, 0, 7,
9,25,and 126 is 17.
7.  The sum of square of deviations of 10 observations from a mean of 50 is 225. The sum
of square of deviations from an arbitrary origin of 60 is 1250.

I1. Translate the following terms and concepts into Chinese on the answer sheet. (10%) (5% 2 %)

8. Simple main effect
. Two-way ANOVA
10. Negative skewed
11. Perfect negative relation
12. Standard error
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III. Apply an F test to the following data assuming that the design is an independent-groups
design. Construct an ANOVA table (10%) and perform an F test of a= .05 on the answer
sheet. 6%) Ho: pei=pe

The experimental data for A part of cﬁtical values of F test (a=.05)
two groups
Gy G dfy Ml g 2 3 4 5
-1 3 1 161.4 | 199.5 | 215.7 | 224.6 | 250.1
-3 3 2 18.51 | 19.00 | 19.16 | 19.30 | 19.46
3 1 3 10.13 9.55 9.28 9.12 8.62
4 7.71 6.94 | 6.59 6.39 6.26
! ! -5 6.61 5.79 5.41 5.19 5.05
6 5.99 5.14 4.76 4.53 4.39
7 5.59 4.74 4.35 4.12 3.97
8 5.32 4.46 4,07 3.84 3.69




